TOTAL ZERO« 17
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Product C: Selling andﬁm ? P f A'C( -c' Ci
Disect materials $4perumit  Variabie . ; $2 per unit e
L]En-?r:. I;a:a:u LSRR $8 :ur unit  Fleed....... $200,000 L::'? yEar ﬁ_’f_{l___(_z;,_&
Variabie overhead. . . . .. $3perunt  Sales...........
Fised overhead $600,000 peryear  Sales price §40 per unit
STC4 W "10/umT nGonk
; COSTING METHOD i
UNITS PRODUCED 60,000160,000 60,000 ABSORPTION VARIABLE
YEAR 1 2 3 .
000
SALES (UNITS SOLD}60,000/40,000, 80,000) A, 100 000 L, 700
X $40 X $40 x40/ UNIT
=T
| NOTE: ' SALE CURRENT
INVENTORY ON PRODUCTION E%Engg?ﬁm
BALANCE SHEET — i[i??sc(})(lglilé{l)g?g LIHECS BLOCK OF 60,000 UNITS
(NOT EXPENSED) VARIABLE
ENDING INVENTORY — DM 60000 x$4 =$ 240,000 5
ALL PRODUCTION WAS DL ~ 60000x$§= 480,000 - gt Sl -
SOLD b SR VOH 60000x$3= 180,000
? FOH 60000x 0 =  -0-
BLOCK OF ZERO UNITS WA g N/A VS&A 60000%$2= 120,000
T =St P 4
ABSORPTION TOTAL aoooox 25 =$ 1,500,000/ TOTAL soooox 17 = $ 1,020,000 1
DM ZEROx$4 =% ZERO
DL ZEROx $8= ZERO Af ! ,-oa o000
VOH ZEROx$3= ZERO COST OF GOODS SOLD Pl N/A
FOH ZERO x10= ZERO GROSS PROFIT GP G00 000 N/A
s " Fd
TOTAL ZERO«x 25 =[§
CONTRIBUTION MARGIN N/A cM [, % 40 000
L Vi
ENDING INVENTORY — SELLING AND ADMINISTRATIVE
2(1;:: ;’RODUCTION WAS FIXED 200,600 200 000
VARIABLE § 3% (g% [0 o000 N/A
BLOCK OF ZERO UNITS %
VARIABLE FIXED OH - PROD N/A - (00 000
" | NET INCOME 5’9& 000 - 580000 -
DM ZERO x$4 =$ ZERO I PLUS FOH END INVENT --ccenoe > z-
DL ZERO x$8= ZERO
B i rtrG ovien e LESS FOH BEGINNING INVED/E - --o--- = -6~
FOH ZERO x 0 =NET INCOME ABSORPTION 5@ 0 000
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Product Costs

Disect matesials ... ...
Direct fabar ..........
Variable overhead. . . ...
Fiwed averhead

$4 per unit

$8 per unit  Fized

$3perunit  Sales...........
$600.000 per year

Selting and Administrative Expenses
Variabde ........ $2 per imit
200,000 per ywar

Sales price 540 per unit

UNITS PRODUCED 60,000 60,000 \ 60,000

VEAR- 1 2 Y 2
f P F‘ﬁ‘ 0
Exh (9.5
INCOME
COSTING METHOD e errmemmv
ABSORPTION VARIABLE

YEAR R}
SALES (UNITS SOLD: 60,000|40,000, [80,000) I,GOC}, rx? [, (0o, 000
X $40 x40 / UNIT =
NOTE: SALE — PART OF CURRENT SALE - PART OF CURRENT
INVENTORY ON PRODUCTION:: PRODUCTloi
BALANCE SHEET - BLOCK OF({40,000 UNIT BLOCK OHR40,000 UNITS
ENDING INVENTORY DM 40000 x $4 =$ 160,000 DM 40000 x4 4 \= $ 160,000
CURRENT PRODUCTION DL 40000x$8= 320,000 DL 40000 {$8F 320,000
NOT SOLD VOH 40000x$3= 120,000 VOH 40000 \$ 34 120,000
BLOCK OFGE,QM FOH 40000 x10= 400,000 FOH 40000x 0 =  -0-
V S&A x 0 N/A V S&A 40000 x($2F 80,000
ABSORPTION i &y
——— s TOTAL 4owox 17=_$ 680,000
DM  20000x$4 =% 80,000 TOTAL 4oooox 25 =$ 1,000,000
DL  20000x$8= 160,000
VOH 20000x$3=__ 60,000 SIS
FOH 20000 x 10=(200,000> | COST OF GOODS SOLD 1,009,000 N/A
TOTAL 2000x 25 =$ 500,000 GROSS PROFIT GP Cog, 099 N/A
CONTRIBUTION MARGIN N/A CM 940 00 )
ENDING INVENTORY =
CURRENT PRODUCTION SELLING AND ADMINISTRATIVE
BL F 7
? A% ABLE
il ARI 2 x 44 a0 ?Jg goo N/A
FIXED OH - PROD N/A 00 000
DM  20000x$4 =$ 80,000 !
DL  20000x$8= 160,000 NET INCOME 3 20 09 L /20000
VOH 20000x$3= 60,000 \___//__;PLUS FOH END INVENT > Twooco
o e = LESS FOH BEGINNING INVE ---cnemmeme- > )
=NET INCOME ABSORPTION =z ;Loj oo0

TOTAL 2o000x 15 = $ 300,000




Product Costs
Direct materials
Dirert laber ... ........

Variabie overhoad.

Fised averhend

UNITS PRODUCED 60,000 60,000 /60,000
YEAR
SALES (UNITS SOLD: 60,000 40,000, | 80,000)

$600,000 per year

Selling and Administrative Expenses

$4 perunit  Variable $2 per unit
$8perunit  Fixed $200,000 per ywar
$3 perunit  Sales

Sales price 340 per unit

1 2 3

X540 X $40

YEAR: 1 2 @

PP prge Il

Exh. (9.¢
INCOME
i o COSTING METHOD
ABSORPTION VARIABLE
3 200 000 2.2 gg ool

NOTE:

INVENTORY ON

BALANCE SHEET —
(NOT EXPENSED)

R
/\(0/‘/6 \*’z

umd<nt
A@(ompﬁ

o

o SALE OF BEG: INING SALE CURRENT
i INVENTORY PRODUCTION
SALE OF BEGINNING SALE CURRENT BLOCK OF 20,000 UNITS BLOCK OF 60,000 UNITS
INVENTORY PRODUCTION . | VARIABLE __¢45- VARIABLE
BLOCK OF 20,000 UNITS BLOCK OF 60,000 UNITS gy 58880 x5 4% $ 80,000 f" (5
0x($8 164 -
ABSORPTION ABSORPTION i e &?000% DM 60000 ¥ 45 240,000
— 3 FOH 20000x 02 NjA | DL 600004$87 480,000
DM  20000x$4 =$ 80,000 DM 60000 x$4 =S 240,000 ZERO VOH 60000 x\§ 3% 180,000
DL 20000x$8= 160,000 \?Cl;H ggggg x$$ 8= 480,000 ' FOH 60000 b= -0-
VOH 20000x$3=_ 60.000 0000 x$3 =" 180,000 TOTAL 20000x T5= 3300005 || " S&A 60000($3= 120,000
FOH 20000 x 10 =(200,000) FOH 60000 x 10= 600,000 PLUS CURRET iy i
t /g ? VS&A  x0  NA VEEL ZgﬁT@ODL%‘A TOTAL soonox 17 =?\$\ 1,020,000 ).
TOTAL 2Qetox 25 = \5.(’)2,‘?3, TOTAL 60000 x E =m u_u"(')’o 0 )m(_[ —"—'g 60 oad T
/ e i
/ COST OF GOODS SOLD L, 000000 N/A
GROSS PROFIT GP | L R0¢ ¢ou O N/A
2
CONTRIBUTION MARGIN N/A CM [ 890 voo
z i
SELLING AND ADMINISTRATIVE
FIXED e, Oo{, 000 200 000
VARIABLE B x 900w | GO 000 4
A X Go B N/A
FIXED OH - PROD N/A 00000
2
NET INCOME ,_Q? Y0000 - [ oW 0ol 7
PLUS FOH END INVENT > T ANNVE
\-/LESS FOH BEGINNING INVE@ .. > Laog 000 )
= NET INCOME ABSORPTION g (/’0 000
Q100




